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1.In May 1985, scientists from the British Antarctic Survey shocked the world by
»announcing the discovery of a huge hole in the ozone layer above the Antarctic.
5.0zone 1s a gas usually formed from oxygen that is high in the earth’s atmosphere.
+The ozone layer is essential to life on our planet because it protects us from
sharmful ultraviolet rays produced by the sun. Without the ozone layer, these rays
swould cause cancer and other disease in both human beings and animals.

AT b it Further Questions&Sample Answers

s 1) What did the British Antarctic Survey discover?
They discovered a huge hole in the ozone layer.

10.2) Why is the ozone layer essential to life?
Because it protects us from harmful ultraviolet rays produced by the sun.

12 The world’s reaction to scientists’ discovery was surprisingly quick.

iz.Data showed that the ozone hole had been created by gases called
1.chlorofluorocarbons (CFCs), which were widely used in machines such as air
1s.conditioners and refrigerators.

16 By 1988, 46 governments had signed the Montreal Protocol, a treaty that
izbanned the use of these gases. Eventually, this treat way signed by every
ismember country of the United Nations—the only treaty ever to be signed by so
9 many nations.

201t will be a long time before the ozone hole disappears completely, but it soon
»1.stopped growing.

22 Persuading the international community to adopt the Montreal Protocol was
s3considered to be a great achievement for the environmental movement.

IR NN b A Further Questions&Sample Answers

eTO
»5.3) What was the hole in the ozone layer caused by? . @‘ m
It was created by gasses called CFCs. R emronmn,

»7.4) What was so amazing about the Montreal Protocol?
It was signed by every member country of the United Nations.

20.According to scientists, there were two reasons why people responded so quickly
s0.to the danger.

s1. The first was that it was easy to understand.

22 If the hole kept growing, it would threaten life everywhere.

;3. The second reason was that it was easy to replace the CFCs with*hydro
ss.chlorofluorocarbons (HCFCs), gases that do much less damage to the ozone layer.
5 Unfortunately, though, HCFCs have their own problems.

s6.Not only do they contribute to global warming, but theymay also be a major
s7factor 1in the development of acid rain.
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SR AN Wb eV F urther Questions&Sample Answers

50.5) What was one reason people responded so quickly to the danger?
10.(D Ifthe hole kept growing it would threaten life everywhere.
1.@) It was easy to replace the CFCs with HCFCs which do much less damage.

126) What are problems with HCFCs?
They contribute to global warming and they may be a major factor in the
development of acid rain.

sDoes this mean that the ban on CFCs was a bad idea?

15.The ozone hole was a real danger and, without the ban, it would have quickly
s6.grown to cover the whole planet.

1. Stopping its growth was a major victory. Nevertheless, the difficulties caused by
18 HCFCs show how complicated environmental problems can be.

1. Above all, they demonstrate how important it is for us to find a way to control the
somain cause of global warming—the harmful gases that we keep putting into the
s.atmosphere.

SR b eul i Further Questions&Sample Answers

52”7) What would have happened had the ban not happened?
It would have quickly grown to cover the whole planet.

55.8) What did the HCFCs demonstrate?
They demonstrated it 1s important for us to find a way to control harmful gases
we put into the atmosphere.

58:
0(37) The ozone layer is important because it @QTOC
5.1 helps preserve the oxygen necessary for life.
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2.3 allows us to calculate the amount of pollution in the air.
s34 stops the earth’s atmosphere from being damaged by the sun.

6.(38) Why was the Montreal Protocol seen as a great success for the
ss.environmental movement?

6.1 It forced governments to do more research on the ozone layer.
2.2 It provided data showing that CFCs created the ozone hole.
53 It attracted attention to the damage being done to nature.

004 It was agreed to be more countries than any other treaty.

10(39) What was one reason CFCs could be banned so quickly?

7.1 Scientists were becoming concerned about acid rain.

2.2 People recognized that global warming was a real problem.

.3 A gas that was not as harmful to the ozone layer was available.
4 'They were being produced in only a few places around the world.
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5(40) The ban on CFCs was a good idea because

761 1t led to a reduction in global warming.

7.2 1t saved the planet from a serious threat.
3 1t reduced the amount of HCFCs in the air.
794 1t showed how complicated nature is.

Review Questions

s0.1) What did the British Antarctic Survey discover?
They discovered a huge hole in the ozone layer.

52.2) Why is the ozone layer essential to life?
Because it protects us from harmful ultraviolet rays produced by the sun.

s+.3) What was the hole in the ozone layer caused by?
It was created by gasses called CFCs.

s.4) What was so amazing about the Montreal Protocol?
It was signed by every member country of the United Nations.

s2.5) What was one reason people responded so quickly to the danger?
so. D If the hole kept growing it would threaten life everywhere.
90.@) It was easy to replace the CFCs with HCFCs which do much less damage.

91.6) What are problems with HCFCs?
They contribute to global warming and they may be a major factor in the
development of acid rain.

0:7) What would have happened had the ban not happened?
It would have quickly grown to cover the whole planet.

05.8) What did the HCFCs demonstrate?
They demonstrated it 1s important for us to find a way to control harmful gases
we put into the atmosphere.
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orIn May 1985, scientists from the British Antarctic Survey
i (Lx o) 2#bicxic HE (ToUPrH) ITky R (To0A) ER (2x2wv) 72
os.  shocked the world by announcing the discovery ofa  huge holein
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sothe ozone layer above the Antarctic. Ozone is a gas usually formed
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wofrom oxygen that is high in the earth’s atmosphere. The ozone layer is
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w.essential to  life  onour planet because it protects us from harmful
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wzultraviolet rays produced by the sun. Without the ozone layer, these  rays
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13 would cause cancer and other disease 1in both human beings and

e.animals.

AT Further Questions&Sample Answers
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105.1) What did the British Antarctic Survey  discover ? @er_[ OC
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1. The world’s reaction to scientists’ discovery was surprisingly quick.
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2. Data  showed that the ozone hole had been created by gases called
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11s.chlorofluorocarbons (CFCs), which were widely used 1n machines
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nssuch as air conditioners and refrigerators. By 1988, 46 governments had
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115, signed  the Montreal Protocol ,a treaty that banned the
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ne. use  of these gases. Eventually, this treat way
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117, signed by every member country of the United Nations—the only
FK (Lroe) IHETIK (<12)
us. treaty  ever to be signed by so many nations.
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oIt will be a long time before the ozone hole disappears completely, but it soon
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stopped growing . Persuading the international community to
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120.  adopt the Montreal Protocol was considered to be a great
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21.achievement for the environmental movement.

PPN A LI e Further Questions&Sample Answers

122.3) What was the hole in the ozone layer caused by? =i o iiait /e oo,

124.
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125.4) What was so ~amazing about the Montreal Protocol?

126. Montreal Protocol ® & < _& = LI AT,

127.
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1zs.According to scientists, there were two reasons why people responded so
fali (XFA) b0

1zo.quickly to the danger

B (0 0) 972

130.The first was that it was easy to understand.
~L#E (3) Iz WK (FH720) 5 ~ICER (2xH50) Ebizzd HowwaHEHT (XL X)

1s.1f the hole  kept growing , it would threaten life everywhere.
. (&) v D) 22 .
132 The second reason was that it was easy to  replace  the CFCs with
R (2 7ar i Wres HE (2B
133 *hydrochlorofluorocarbons (HCFCs), gases that do much less damage to the
131.0zone layer.
R (HZ9) ITh Ll .
135 Unfortunately, though, HCFCs have their own problems.
~7EF Tkl BE (CLxbro) +5 HERREL (b&w 2 BATEAD)

136.INot only do they contribute to global warming , but they may also be a
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137, major factor 1in the development of acid rain .

*HCFCs= hydrochlorofluorocarbons =

EER A LI eyl Further Questions&Sample Answers
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139.5) What was one reason people responded so quickly to the danger?
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14.6) What are problems with HCFCs? HCFCs ollisii7: 4ot

145.
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1u7z.Does this mean that the ban on CFCs was a bad idea?
AIEHIE (XALLZ D) BTl

115, The ozone hole was a real danger and, without the ban , it would have quickly

#H (Bk) 5 2R (EAzy)  HEE (bEW)

o grown to cover the whole  planet
Bk (2570 EE (Lw>kd) & BRI (Lx50)
10.5topping its  growth wasa  major victory .
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151 Nevertheless, the difficulties caused by HCFCs show how complicated
B (AT XI) O AV ) L0 bir FHE (Lol x9) 75
is2.environmental problems can be. Above all, they demonstrate how important
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1531t 1s for us to find a way to  control the main cause of global
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sewarming—the harmful gases that we keep putting into the atmosphere.
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156.7) What would have happened had the ban not happened? @67 OC
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150.8) What did the HCFCs demonstrate? HCFCs 2t 18] LCin = b i o cd i,
160.

161.

162(37) The ozone layer is 1mp0rtan1: because it 7/ it i 5 b4, St b U
it 122) 35 #F(ZAT) ®E (O2&)5) 72 .
1621  helps preserve the oxygen necessary for life.
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6.2  protects us from rays that can cause serious diseases.
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165.3 allows us to calculate the amount of pollution 1in the air
1664 stops the earth’s atmosphere from being damaged by the sun.
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167.(38) Why was the Montreal Protocol seen as a great success for the
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s environmental movement?
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170.1 It forced governments to do more research on the ozone layer.
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m2 It provided data showing that CFCs created the ozone hole.
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123 It attracted attention to the damage being done to nature.
B (WFA) = (\Wob) Lz k0% (k) <o~ o EDEDEK (LrH>R) &b
173.4 It was agreed  to be more countries than any other treaty.
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17.(39)  What was one reason CFCs could be banned so quickly?
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1761 Scientists were becoming concerned about acid rain .
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1772 People recognized that global warming was a real  problem.
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1788 A gas that was not as harmful to the ozone layer was  available
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1794  They were being produced in only a few places around the world.
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150.(40) The ban on CFCs was a good idea because 7o o5 ki f 72 o =05
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sl 1t led to a reduction in global warming.
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122 1t saved the planet from a serious threat
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1558 1t reduced the amount of @ HCFCs 1n the air.
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1824 1t showed how complicated nature is.
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Review Questions
FEVEY, ~ERR (ZoFA) T5

155.1) What did the British Antarctic Survey  discover ?
1s6. They discovered a huge hole in the ozone layer.

e TR BV

157.2) Why is the ozone layer essential to life?
F(FED) D HE (D00 72 Fr (Z28A) ~ZLoTE (2LK) bl

s Because 1t protects us from harmful ultraviolet rays produced by the
189.8UI.

190.3) What was the hole in the ozone layer caused by?
~EME (L) e Tard R

1011t was created by gasses called CFCs.

1924) What was so amazing about the Montreal Protocol?
~C R TYH A v ENTE
3.1t was signed by every member country of the United Nations.

19.5) What was one reason people responded so quickly to the danger?
B (Fxrov) 25 (b)) 25
195.(1) If the hole kept growing it would threaten life everywhere.
(&) v ) 22 Xvd (F<) 220

106.2) It waseasyto  replace  the CFCs with HCFCs which do much  less
damage.

197.6) What are problems with HCFCs?

Bk (E;f):t 5) 5 A . ER (Lo20VA) .
ws. They contribute to global warming and they may be a major factor In the

1v9.development of acid rain.

200.7) What would have happened had the ban not happened?
. B O(BB) 5 RmE EADEL)
2011t would have quickly grown to cover the whole planet.

2028) What did the HCFCs demonstrate?
203. They demonstrated it is important for us to find a way to control harmful gases
204.We put into the atmosphere
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